BRITPART .
—_— Fitting Instructions

The quality parts for Land Rovers DA21 38

Discovery 2 Towing Kit

IN THE BOX IN THE FITTING KIT

A 1 xMain Bar C 2 x M14x90 Bolts & Spring washers

B 2 x Handed Side Arms D 4 x M12x35 Bolts, Nuts & Washers
E 2 x M16x110 Bolts, Nuts & washers
F 2 x M16x50 Bolts, Nuts & Washers

1. Attach A to underside of cross member of vehicle using C.
2. Bolt B to A using D and to the chassis using E. Tighten all bolts.
Finally using F fit ball and wiring kit (not supplied with this kit). Fully tighten.

This towbar must be used with a type approved ball conforming in A50-1 dimension with
adequate D & S values.

Guarantee

Britpart, The Grove, Craven Arms, Shropshire, SY7 8DA United Kingdom ST




